Moto-All.ru

CITMCOK OETAJIEY [IJ1d "OIL PUMP DRIVE" TRIUMPH SPRINT RS

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY [IJ1d "OIL PUMP DRIVE" TRIUMPH SPRINT RS

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T1210509 Cpok mocraBku 0T 27 gHeH OIL PUMP ASSY

1 T1210517 CpoK IoCTaBKH OT 27 nHen OIL PUMP ASSY

2 T3331041 Cpok noctaBku oT 19 nHeilt Screw, Pan/Hd, Tx, M6 x 25, Enc

3 T3000101 CpoOK IOCTaBKH OT 27 nHen DOWEL,HOLLOW,8X14

4 T3600013 Cpok noctaBku oT 19 nHelt O Ring

4 3600013-T0301 CpoK IoCTaBKH OT 27 nHen '0' RING

5 T1210790 Cpok nocraBku ot 27 gHeH OIL PUMP GEAR & SHAFT

5 T1210791 CpoK 1oCTaBKH OT 27 nHen GEAR & SHAFT,OIL PUMP,31T

5 T1210800 Cpok mocraBku ot 27 gHeH GEAR, OIL PUMP

6 T1210546 CpoK 1oCcTaBKH OT 27 nHen GEAR,OIL PUMP,AUXILIARY,29T

7 T1210808 Cpok mocraBku 0T 27 gHeH SPARES KIT,OIL PUMP DRIVE GEAR
7 T1210820 CpoK 1oCTaBKH OT 27 nHen INT GEAR & SHAFT,OIL PUMP, 14T
7 T1210804 Cpok nocraBku 0T 27 gHeH GEAR & SHAFT, OIL PUMP, 14T

8 T3330281 CpoK 1oCTaBKH OT 27 nHen SCREW, TORX,C'SUNK,M5X0.8X15

8 3330280-T0301 Cpok nocraBku 0T 27 nHeH SCREW C'SUNK TORX M5 X 10

8 T3332704 CpoK 1oCTaBKH OT 27 nHen SCREW,TORX,C/S,M6X14,ENCAP,RAW
8 T3332604 Cpok nocraBku 0T 27 gHeH SCREW,TORX,M6X14,RAW

9 3550230-T0301 CpoK IOoCTaBKH OT 27 nHen WASHER, HARDENED, M6

9 3550033-T0301 Cpok nocraBku 0T 27 gHeH WASHER, HARD

10 T1210065 CpOK IIOCTaBKH OT 27 fHel VALVE, PRESSURE RELIEF

11 3500008-T0301 Cpok nocraBku 0T 27 nHeH CIRCLIP

12 T3551602 CpOK IIOCTaBKH OT 27 fHel WASHER, THRUST, 12X18X1.2

13 T3331191 CpOK IT0CTaBKY OT 27 mHe# SCREW,PANHD,TX,M6X1X20,SLV,ENC




